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Problem 1.

A 4kg cat (treat it as a point particle) sits on a horizontal floor eyeing a stationary chair of
mass 10kg which is a horizontal distance of 1.3m away. The seat of the chair is 0.5m
above the floor. The cat jumps up and lands on the seat of the chair just as she reaches the
maximum height of her trajectory. She puts out her claws and hangs on. If the chair sits
on a part of the floor which has just been waxed, is very slippery and therefore

frictionless, what is the momentum of the cat plus chair system just after the cat has
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A 4kg cat (treat it as a point particle) sits on a horizontal floor eyeing a stationary chair of
mass 10kg which is a horizontal distance of 1.3m away. The seat of the chair is 0.5m
above the floor. The cat jumps up and lands on the seat of the chair just as she reaches the
maximum height of her trajectory. She puts out her claws and hangs on. If the chair sits
on a part of the floor which has just been waxed, is very slippery and therefore
frictionless, what is the momentum of the cat plus chair system just after the cat has

landed?
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A 4kg cat (treat it as a point particle) sits on a horizontal floor eyeing a stationary chair of
mass 10kg which is a horizontal distance of 1.3m away. The seat of the chair is 0.5m .
t;wgb’o ve the floor. The cat jumps up and lands on the seat of the chair just as she reaches the
Thaximum height of her trajectory. She puts out her claws and hangs on. If the chair sits

on a part of the floor which has just been waxed, is very slippery and therefore
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A 4kg cat (treat it as a point particle) sits on a horizontal floor eyeing a stationary chair of
mass 10kg which is a horizontal distance of 1.3m away. The seat of the chair is 0.5m
above the floor. The cat jumps up and lands on the seat of the chair just as she reaches the
maximum height of her trajectory. She puts out her claws and hangs on. If the chair sits
on a part of the floor which has just been waxed, is very slippery and therefore
frictionless, what is the momentum of the cat plus chair system just after the cat has
landed? .
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A 4kg cat (treat it as a point particle) sits on a horizontal floor eyeing a stationary chair of

mass 10kg which is a ho.rizontal distance of 1.3m away. The seat gf'the chair is 0.5m

above the floor. The cat jumps up and lands on the seat of the chair just as she reaches the

maximum height of her trajectory. She puts out her claws and hangs on. If the chair sits

on a part of the floor which has just been waxed, is very slippery and therefore

frictionless, what is the momentum of the cat plus chair system just after the cat has
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